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H & 0o & AF S A A
20149 E = 13 YeHs|H HHDSY ~ BADS
AZ: BMNSH SN DS
¥ x5S D8N
Sl StmS S E R IHA (S &S)
A= 24 - - A(SH) - HRAY - BES Ofl & oH I & Hns2Z
HMDES 34,360,543 34,677,848 ~317,305
= 150,490 55,200 95,290
= 752,000 752,000 0
= 282,000 282,000 0
= 9,156,697 9,448,129 ~291,432
Al 23,939,526 24,140,519 200,993
S Al 79,830 0 79,830
MDD 27,501,558 28,222,086 AT720,528
= 45,290 0 45,290
< 8,846,717 9,271,789 425,072
Al 18,549,051 18,950,297 401,246
T Al 60,500 0 60,500
£ =S BSX= 20,324,271 21,306,710 982,439
< 8,839,717 9,271,789 432,072
Al 11,428,054 12,034,921 606,867
T Al 56,500 0 56,500
SIS S EY N A 1,328,900 1,160,900 168,000
< 527,400 415,900 111,500
Al 745,000 745,000 0
Al 56,500 0 56,500
FOIEY SEAY 583,900 415,900 168,000
< 527,400 415,900 111,500
Al 56,500 0 56,500
308 XtXI & X S0 & 583,900 415,900 168,000
< 527,400 415,900 111,500
Al 56,500 0 56,500
06 RS BUHERES 583,900 415,900 168,000
O] Y INSEL(HAMLLHAR) 25,000 0 25,000
= 25,000 0 25,000
O2YE 2L ISEL(HALLHAER) 25,000 0 25,000
Al 25,000 0 25,000
ONZESE HYBH2SEX (MM HAE) 6,500 0 6,500
S Al 6.500 0 6,500
OFCIH BIAY 527,400 415,900 111,500
< 527,400 415,900 111,500
sn3AN 17,455,641 18,606,080 A1,150,439
< 8,312,317 8,855,889 543,572
Al 9,143,324 9,750, 191 606,867
HeEa stuzgal 1Y 1,536,363 1,971,808 435,445
< 682,889 876,359 £ 193,470
Al 853,474 1,095,449 241,975
308 XtXI &t X S0 & 1,536,363 1,971,808 435,445
< 682,889 876,359 193,470
Al 853,474 1,095,449 A 241,975
06 DRI ZHUEEE2 1,536,363 1,971,808 435,445
ORBHY SN XA 1,536,363 1,971,808 435,445
< 682,889 876,359 193,470
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| A 853,474 7,005,440 X 247,975

D RAZA XY 14,302,266 15,017,260 AT14,994

< 7,158,528 7,508,630 £350,102

Al 7,143,738 7,508,630 364,892
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= 7,158,528 7,508,630 £350,102

Al 7,143,738 7,508,630 364,892

06 REIIBNERES 14,302,266 15,017,260 AT14,994

O3t LAZA XY 14,302,266 15,017,260 AT14,994

< 7,158,528 7,508,630 £350,102

Al 7,143,738 7,508,630 364,892

Zuss 245 901,880 832,000 69,880

= 45,290 0 45,290

= 7,000 0 7,000

Al 845,590 832,000 13,590

T Al 4,000 0 4,000

=P 901,880 832,000 69,880

= 45,290 0 45,290

< 7,000 0 7,000

Al 845,590 832,000 13,590
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= 45,290 0 45,290

Al 13,590 0 13,590
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020143 SSHDS XIRAL (0l AE R F A

2) 58,880 0 58,880

= 45,290 0 45,290

Al 13,590 0 13,590

ZASISHE JS2Y 4,000 0 4,000

=N 4,000 0 4,000

401 Al EHI L 2O HI 4,000 0 4,000

Al 4,000 0 4,000

01 Al& I 4,000 0 4,000
OBMSISHE Staa JSSY (UL A

) 4,000 0 4,000

T Al 4,000 0 4,000

Aot BUNE 2o3 X2 7,000 0 7,000

= 7,000 0 7,000

307 2I2H0I & 7,000 0 7,000

= 7,000 0 7,000

02 BIAANBES 7,000 0 7,000

Q024 AE2 L DI (HMLBEAL) 7,000 0 7,000

= 7,000 0 7,000
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A= MDSH SN SN
M CAHP 2Y
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d=-2M -3 - dA(FAH) - MRAMY - BES Off &t 24 INEH Hns2
SHAE A B 5,573, 134 5,259,911 313,223
= 86,300 36,300 50,000
z 752,000 752,000 0
= 282,000 282,000 0
= 269,980 176,340 93,640
Al 4,163,524 4,013,271 150,253
Al 19,330 0 19,330
ENE 2Y 5,448,988 5,143,758 305,230
= 86,300 36,300 50,000
z 752,000 752,000 0
e 282,000 282,000 0
= 269,980 176,340 93,640
Al 4,039,378 3,807,118 142,260
Al 19,330 0 19,330
SAREAN 29 881,830 856,030 25,800
= 36,300 36,300 0
= 282,000 282,000 0
< 15,800 0 15,800
Al 537,730 537,730 0
MERSETHE 2YX 65,800 50,000 15,800
o 20,000 20,000 0
< 15,800 0 15,800
Al 30,000 30,000 0
402 QIR TH2 01 & 65,800 50,000 15,800
= 20,000 20,000 0
< 15,800 0 15,800
Al 30,000 30,000 0
01 QAR ELE 65,800 50,000 15,800
OBUR H2THZ N2 PY(NLLEHAS
) 5,000 5,000
= 5,000 5,000
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= 5,800 0 5,800
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) 5,000 0 5,000
= 5,000 0 5,000
HBHBEAZ 2SN 10,000 0 10,000
Al 10,000 0 10,000
307 212+0| & 10,000 0 10,000
Al 10,000 0 10,000
04 BI2HBALE X2 10,000 0 10,000
ONBHBOIRIOISHE Q2= AOLHE D) 10,000 0 10,000
Z Al 10,000 0 10,000
SAHE BARE 29 1,683,968 1,667,038 16,930
= 184,180 176,340 7,840
Al 1,490,458 1,490,698 £240
A 9,330 0 9,330
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= 184, 180 176,340 7,840
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Al 9,330 0 9,330
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= 138,640 127,800 10,840
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Al 9,330 0 9,330
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= 128,640 127,800 840
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EIDVETES! 100,000 0 100,000
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Al 50,000 0 50,000
SEIPNTES 100,000 0 100,000
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N = 0 &8 AFH Y & A AN
20148 A 13 P3N BADSY - BUDSH
AR HHDNSH SN HEZ N2
HH: CNB 29
Sel SAE NEEE U RIS (B2l &)
A= -2 -3 - AA(3H) - NEAMY - BES 0] AFoH Iy H HnE2
HET M2 1,285,851 1,195,851 90,000
=2 18,900 18,900 0
[= 40,000 0 40,000
Al 1,226,951 1,176,951 50,000
CAZ 29 1,196,809 1,106,809 90,000
=2 18,900 18,900 0
[ 40,000 0 40,000
Al 1,137,909 1,087,909 50,000
CH2 ANEES 2 RES 354,500 264,500 90,000
[ 40,000 0 40,000
Al 314,500 264,500 50,000
CHE HAANE 29 239,500 199,500 40,000
[ 40,000 0 40,000
Al 199,500 199,500 0
401 Al&HI 2L 200 189,000 149,000 40,000
[ 40,000 0 40,000
Al 149,000 149,000 0
01 Al&H| 189,000 149,000 40,000
OQSTAHI AS=5) SX(NMEFAR) 20,000 0 20,000
[ 20,000 0 20,000
OOESCTAHZ 22257 24X (ML FAR) 20,000 0 20,000
[ 20,000 0 20,000
SHECAHD OlQA2E =AY 50,000 0 50,000
401 AlEHI 2 =200 50,000 50,000
01 Al&HI 50,000 50,000
OZHTAHZ OIAE =4 MY 50,000 0 50,000




